[image: image1.png]At Consolidated Foundries, for a resolution to
become policy, a quorum of atleast halfthe 20
directors must pass the resolution by at least a two-
thirds majorit. Atameeting of the board of directors,
did resolution X pass or fail?
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Ten directors voted for the resolution.

Seven directors voted against the
resolution,

D Staternent (1) BY ITSELF is suficient to
answer the question, but statement (2) b tself
is not.

(2 Stafement (2) BY TSELF is sufficient o o

" answerthe question, but statement (1 by tself}

ismot .

© " Siaternerits (1) an (2) TAKEN TOGETHER
are sufficient 1o answer the question, even
though NEITHER statenent B ITSELF is
sufiicient

Inthis question, you's told that at @ quorum of at
least halfthe 20 directors must pass the resolution by
atleast a two-thirds majority. Youte asked whether
ornotresolution X passed or failed. Statement (1)
says that 10 directors voted for the resolution. I 20
ditectors were present, 10 votes is not the required
two-thirds majority. However,if10 were present, 10
voles is unanimous, and therefore is enoughta pass
the bill. Insuffcient. Statement (2) says that seven
directors voted against the resolution. Even ifall 20
directors were there, then 35% of the directors vated
againstthe resolution and 65% voted for it This is not
enough to pass the resolution, o the resolution
definitely failed. Suffcient
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Afraction is undefined ifthe denominator is zero.

There are five values of z, for which 22 < 9. They are
-1,-2,0,1,and 2. Plug each ofthese info the
denominatars of each expression 1o see ifthe
denorminator can be zero. Ifone ofthe integers
makes the denorminator zero, that expression would
be undefined for an integer 7 such that 7 < 9;
eliminate answer s that have that Roman numeral
statementin it
I Undefined when z= 0. Eliminate.
Il Factor: Undefined when 7= 2.
Eliminate
Wl Factor Undefined when 7
Eliminate.
Therefore, the answer is (1), none.
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this case, we can use a law of expanents o make the

amount ofwork we do less. because te terms (15%)

. s and (77) are raised o the same power, and since
. ’
What is the units' digit of 3)°(13)°(7) )=y, we can saythat (1390 %= (13 1 =

D 1 913, The units digitof 81 is 1, and the units ~ digit of
@ 3 91 is just 1x1x1, which is 1, 50 once we find the.

s
o unts aigitor(&),we wil have the i igtof
e s

(#)(19)(7). Let fna e units it or 9°

%= 9 9x 9x 9 9, which we can rewrite as
81x81x9 . The units  digit of this Is just .
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Ten directors voted for the resolution.

Seven directors voted against the
resolution,

D Staternent (1) BY ITSELF is suficient to
answer the question, but statement (2) b tself
is not.

(2 Stafement (2) BY TSELF is sufficient o o

" answerthe question, but statement (1 by tself}

ismot .

© " Siaternerits (1) an (2) TAKEN TOGETHER
are sufficient 1o answer the question, even
though NEITHER statenent B ITSELF is
sufiicient

Inthis question, you's told that at @ quorum of at
least halfthe 20 directors must pass the resolution by
atleast a two-thirds majority. Youte asked whether
ornotresolution X passed or failed. Statement (1)
says that 10 directors voted for the resolution. I 20
ditectors were present, 10 votes is not the required
two-thirds majority. However,if10 were present, 10
voles is unanimous, and therefore is enoughta pass
the bill. Insuffcient. Statement (2) says that seven
directors voted against the resolution. Even ifall 20
directors were there, then 35% of the directors vated
againstthe resolution and 65% voted for it This is not
enough to pass the resolution, o the resolution
definitely failed. Suffcient
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Afraction is undefined ifthe denominator is zero.

There are five values of z, for which 22 < 9. They are
-1,-2,0,1,and 2. Plug each ofthese info the
denominatars of each expression 1o see ifthe
denorminator can be zero. Ifone ofthe integers
makes the denorminator zero, that expression would
be undefined for an integer 7 such that 7 < 9;
eliminate answer s that have that Roman numeral
statementin it
I Undefined when z= 0. Eliminate.
Il Factor: Undefined when 7= 2.
Eliminate
Wl Factor Undefined when 7
Eliminate.
Therefore, the answer is (1), none.

L5,



[image: image6.png]In
this case, we can use a law of expanents o make the

amount ofwork we do less. because te terms (15%)

. s and (77) are raised o the same power, and since
. ’
What is the units' digit of 3)°(13)°(7) )=y, we can saythat (1390 %= (13 1 =

D 1 913, The units digitof 81 is 1, and the units ~ digit of
@ 3 91 is just 1x1x1, which is 1, 50 once we find the.

s
o unts aigitor(&),we wil have the i igtof
e s

(#)(19)(7). Let fna e units it or 9°

%= 9 9x 9x 9 9, which we can rewrite as
81x81x9 . The units  digit of this Is just .



_1048928511

_1048928752

_1048927912

